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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester —V™ Examination December - 2010

Subject code: 355405
Subject Name: COST ACCOUNTING

Date: 30/12/2010 Time: 02.30 pm — 05.00 pm
Total Marks: 70
Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (@) What is Costing? Explain their Objective.
(b) Distinguish between Costing and Financial Accounting.
Q.2 (a) Explain on Time Wage System & Piece Wage System
(b)  State the Advantages of Halsey system.
OR
(b) A worker is allowed 9 hours to complete a job on time wage. He
completes a job in 6 hours on piece wage. His time wage is 75 paisa
per hour. Material cost of a product is Rs. 12 and factory overhead
are recovered at 50% of total direct wages.
Calculate the factory cost of the product as under:
(1) Piece wage plan.
(2) Halsey wage plan.
Q.3 (@) Explain how profit is calculated on incomlete contract.
(b)  Explain types of overheads.
OR
Q.3 (a) Explain elements of costing.
(b)  The following detail has taken from the book of manufacturing
company for the six months ending 30" June, 2007:
MONTH QUANTITY(UNIT) | SEMI VARIABLE
COST (RS))
January 500 2,500
February 540 2,610
March 600 2,800
April 940 3,800
May 880 3,640
June 760 3,280
Find out the fixed & Variable Cost.
Q4 (@) A Building contractor having undertaken a construction work at a

contract price of Rs. 5, 00,000 began the execution of the work on
1* January, 2003. The costing records reveal the following
information as on 31-12-2003:

Machinery Installed at Site Rs. 30,000
Material Sent to Site Rs. 1,70,698
Labor at Site Rs. 1,48,750
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Direct Expenses Rs. 6,334

Over Head Charges Allotted Rs. 8,252
Material Returned from the Site Rs. 1,098
Work Certified by Architect Rs. 3,90,000
Cash Received Rs. 3,60,000
Cash of Work Not Yet Certified Rs. 9,000
Material on Hand at 31-03-2003 Rs. 3,766
Wages Accrued on 31-03-2003 Rs. 5,380
Value of machinery as at 31-03-2003 Rs. 22,000

2/3 of the profit of the contract on the base of cash received is to be
transferred to Profit and Loss Account. Prepare Contract Account.

What is meant by ‘Pro-Forma Contract Account’? Explain when &
why it is prepared?

OR
A product passes through two distinct processes A and B, and
thereafter it is transferred to finished stock. The output of process A
passes to B and that of B to finished stock.
During the month ending on 31% March, 2004, 1,000 units of raw
material, valued at Rs. 20 per unit were issued to process A.
Other relevant information is as under:

Process A Process B
Sundry Materials RS. 1,100 RS. 2,650
Direct Wages RS. 10,000 RS. 11,000
Manufacturing Expenses RS. 7,000 RS. 7,500
Actual Output 900 units 830 units
Normal wastage(percentage of 5% 10%
unit)
Sales Value of Wastage(per unit) RS. 2 RS. 5

From the above information you are required to prepare process
Accounts and find out cost per unit of each process. Also give the
abnormal wastage or Effectives (gain) Accounts.

Explain on Certified and Un-Certified work.

Write a short note:
(1) Joint Product & By Product.
(2) Normal and Ab-normal Wastage.
Explain meaning and characteristics Operating Costing.
OR
Explain characteristics and Advantages of Standard Costing.
Prepare Specimen of Re-Conciliation of cost and Financial Account.
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